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A g B HH ARid H 3™d ABCD SINIT TR 7 | 39 31T i aTs
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2X M——{N  qSTaTett a7 shieeht 3TaT fohaT T 8 | SRITfohd W 1 &%
| X A1 bi o Tes Ao el e Bt bl Gl |
b y—L© s ABCD % @mwe %t A(CJABCD) 38 &R fordl |

i 9T &1 &d = A(CJABCD) - A(CJMNCP) = 2xy - x?

i 9T =1 &ha = A(CJASPD) + A([C]JSBNM) = (y - x) X 2xy + X2
= 2Xy - 2X*+ x*
= 2xy - X
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SfSTeh SASTehi o UM% T 0T hid T I S5 81 TUIMThR ol Toed R 7 | Tafvrse sy
Tl P AfSTeh STkl bl Tk @1 for@ i 6t glaem & fore g3 dwm fobw Sa € | amem, &w

TH $9 foedR ¥ <€ |
1| P X y_Q ° Fof 3MThfd # 1 =wqys [ JPQRS Th ot |
IHehT STl <l ASTS (X + y) B |
X X o A ((JPQRS) = (x + y)’
ot PQRS =1 [, II, 11, IV 39 1=l | fefora
y forem mam B
I A it PQRS &1 &m&a I, 11, 11, IV % &5%ali
S X y - FTHS T 2 |

S A ((JPQRS) = A (A I) + A (3Ia 1) + A (¥d 1II) + A (Id 1V)
X+ y) =X+ Xy +xy+y=x+2xy+y
XY=+ 2xy + Y
IE (X + y)> 39 e e 1 VB AT L & |
X+y) xX+y)=xXx+y +yXx+y)
=X+ xy+yx+y o (X + y) = x"+ 2xy + V

(x + y) 39 gfaug &1 o i R e aren dfe =, 8eha qa @ fien gt
e h AT 1 L (X + y)2= X+ 2xy + Yy’ I8 gfeug & ot foean o g 2 |
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S (a - b) Y ATl 9, b Y1 A1l o U7 (a - b) 3R b ST 9Tt 2 37 |

A@I) + A RmEAI) + A (REa ) + A (@1 1V) = A ((CJPQRS)

p a-b <b—>g
(a-b)*+ (a-b)b+(a-Db)b+ b’ =2a
(a-b)*+ 2ab-2b?* + b*= &’ .
(a-Db)*+ 2ab- b? = &
~(a-b)y*=a*-2ab+ b’
SIfSTeh SASTehi T UHHA AT L I IR B | " v
(a-b)=(a-b)x(a-b)
=a(a-b)-b(a-b) S a R
=a’-ab-ab+ b’
= a’ - 2ab+ b’
| & wg TwEn |
(’ (a+ b)) =a*+ 2ab + b’ °(a—b)2=a2—2ab+b2)
IR AT H a T b o TAF W HIE o TEAT ARt ITeh! ST hL ohd & |
afca=5b=3 (a-b) =(5-37=2"=4
(a+b)>=(5+3) =8 =64 a’-2ab + b*=5"-2x%x5x 3+ 3
a’+2ab + b’=5"+2Xx5x 3+ 3 =25-30+9=4
=25+ 30 + 9 = 64

freaffad a9 @ Fifasar g3 6t Sitg & |

i)a=-7,b=38 (ii)a=11,b =3 (i) a=2.5,b=1.2

forem w1 |

3. (2x + 3y)? 3a. (5x - 4)?
= (2x)* + 2(2x) x (3y) + (3y)? = (5x)* - 2(5x) x (4) + 4*
= 4x* + 12xy + 9y? = 25x* - 40x + 16

3. (51)° 3. (98)°
= (50 + 1)? = (100 - 2)?
=50°+2%x50x1+1x1 = 100*- 2 x 100 X 2 + 2°
= 2500 + 100 + 1 = 10000 - 400 + 4
= 2601 = 9604
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1. fomam =0

(i) (5a + 6b)* (i) (§+§j (i) (2p - 3q)? (iv) (x—é]

(v) (ax + by)? (vi) (7m - 4 (vil) (x+%)2 (viti) (a_g
2. (8 - %) 79 gfaue o1 o f=fafed & @ wF-w1 § 7 99 w1 g4 |

(64— L (i) es+ (iii)64—%+% (iv)64+%+%
3. g gfaug ot @1 foEaR & W =35 m?n? + 14mnpg + 49p’q? firerm 7

(i) (m+n)(p+q) (i) (mn - pq) (iii) (7mn + pq) (iv) (mn + 7pq)
4. ToaR g3 < He™a § °H [ U |

(i) (997)? (i) (102)? (iii) (97)? (iv) (1005)*

anen, awg

% (a+ b) (a- p) T =R
(a+b)(a-b) =(a+hb)x(a->h)
=a(a-b)+b(a-bh)
a’ - ab + ba - b’
=a*-b’
(a+b)(a-b) =a>-"p

| oz wusn |

C (a+ b)(a-b) =a*-0b )

3L (3x + 4y) (3x - 4y) = (3x)* - (4y)* = 9x* - 16y’

3. 102 x 98 = (100 + 2) (100 - 2) = (100)* - (2)*= 10000 - 4 = 9996
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1. foear g3 61 gg=a 9 Ewa AJd U |
1) x+y) (x-y) (ii) (3x = 5) (3x + 5)
(iii) (a + 6) (a - 6) (iv) (ﬁ%) (1_6j
2. fowam gz <t ggrar | 7E Ad w4 | ° °
(i) 502 x 498 (i) 97 x 103 (i) 54 x 46 (iv) 98 x 102
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w0 A fafer e@n |
YUH THUE! o OGS A i |
15=13x 53Yd 3 qA1 5 I§ 15 % PHEE & |
S YHR 3x = 3 X x AU 3x b PPHES 3 qAT X 7 |
=Sk SR @l | 5= 5 X 2= 5 X t X t
1, 5, t, £, 5t, 5t* oS =erh 52 THEE ¢ |
6ab®=2x3xaxbxb
THUG! o UGS 1A hid THF & Teh dl Tgel UM o UGS 1A i | 35 S1E T
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© = fou U SSHT U UGS FA B PGS - &9 H T |
(i) 201 a’b*, (ii) 91 xyt*, (iii) 24 a*b*, (iv) tr’s’

aren, aust

gfoug & UMEE F@ R |

4xy + 8xy® 39 gfIUg % T U I WHT UHEE 4 X ATy 7 |

4xy + 8xy* = 4(xy + 2xy*) = 4x (y + 2xy) = 4xy (1 + 2y)

gfoue & TUHEE AT A o T ST ISl o T U i hIS3Hh o STEL TUHHA
w9 4 for |
9a’bc + 12abc? = 3(3a’bc + 4abc?) = 3abc (3a + 4c) 39 YR UHEE A L Hehd Bl |

(a+b)(a-b)=a- b’ Ig g gH al &

3G YR W, a> - b’ & THEE (a + b) (a - b) AT X Fehd 7 |

TOEE ST A |
3. a2 - 4b>= a2 - (2b)? 3q1. 3a’ - 27b* = 3(a’ - 9b?)
= (a + 2b) (a - 2b) = 3(a + 3b) (a - 3b)
© = feu U el % PREE 7™ w |
(i) p* - q® (i) 4 - 25y (i) y* - 4 (iv) p? - %
(v) 9%’ - %yz (i) X - % (vii)alb-ab  (viii) 4y - 6X°

(ix) %yz - 822 (X) 2x* - 8y*
aad



